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Word of the Day

SOLICIT

To ask somebody for money, help, support, etc.
Synonyms : Seek , Canvass
Antonyms : Avoid , Ignore

Sentence: No tuition was charged by the school, which

solicited contributions from the society's members.






Which of the phrases given in the options should
replace the word phrase that 1s underlined 1n the
sentence to make 1t grammatically correct? If the
sentence 1s correct as it 1s and no correction 1s required,

select 'No correction required' as the answer.



Q1. The car I brought 1s ten times cheaper than his luxury car

Cheaper than

As cheap as

Cheap than

As cheap than

No correction Required




Q2. As a law-abiding citizen, 1t was difficult to put on with the

anti-government group of neighbours with questionable

activities

Put off with
. Put down with
S o correction Reauired

No correction Required




In the following sentence, a part of the sentence 1s
underlined. Below are given alternatives to the
underlined part, which may improve the sentence.
Choose the correct alternative. In case no improvement
1s needed, choose the alternative that indicates "No

improvement’.



Q3. The committee was split on whether the new regulations
for the National Health Protection Scheme should be

implemented

Were split on whether

Is split on whether

Has been split on whether

. Was split over whether
KNOW?
No correction Required




Q4. Moral ethics are to be taught to the students at an early

age by their parents, teachers, and society for their

overall development.

- Was to b

No correction Required
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DID YOU
KNOW?
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Q5. Due to its complex tribal equations and rugged

mountainous terrain, Rajasthan has historically be an difficult

place for external invaders.

Historic has a difficult place

Historically been a difficult place

Historically being a difficult place
Historically been a difficult places

No correction Required




Q6. He would often say the exact opposite of what he had said

on a previous occasion, so both points would be right after the

debate had ended

Or both points

And both points
So both points
Yet both points
. Nor both points
Gl oo




Directions: The following sentence has been split into
five segments. Identify the segment that contains a

grammatical error.



Q7. The law further provide (A)/ for the re-engagement (B)/ of

men of all ranks, (C)/ under conditions varying (D)/ according to
their rank (E)/.

Answer : Option /

Replace ‘provide’ with

‘provides’



Q8. To maximize the scholarship (A)/ opportunities, we should focus
(B)/ on our educations and keep (C)/ our priorities in the right

place.(D)/ no error

Answer : Option C

‘Education’ in place of ‘Educations’




Q9. Three men were arrested for alleged (A)/ impersonating civic
body officials (B)/ and extorting money from shopkeepers (C) /in east
Delhi’s Mansarovar Park, the police said on Sunday. (D)/.

No Error. (E)

Answer : Option A

‘Allegedly’ instead of ‘Alleged’




Q10. A pair of supportive (A)/ shoes are important (B)/ if you are (C)/

experiencing lower back pain. (D)/ No error(E)

Answer : Option B

‘is’ in place of ‘are’




Q11. The result was a material(A)/ which was tough (B)/ or tensile,
possessing (C) the dexterity of fabric.(D)/ No error (E)

Answer : Option C

‘and’ in place of ‘or’




Directions: In the following sentence, five words are
given 1n bold, out of which one word 1s misspelled.

Find the misspelled word.



Q12. We put ribbons (A) on our suitcases (B) to diferentiate
(C) them from the hundreds (D) of other bags on

the airline carousel (E).

Ribbons

Suitcases

Diferentiate

Hundreds

Carousel




Q13. Despite(A) the completion(B) of the dilimitation(C)
commission’s exercise(D), Legislative Assembly

elections have still to be announced(E).

Despite

Completion

Dilimitation

Exercise

Announced




Q14. The likelihood(A) that many would face long
incarceration(B) as PMLA accused(C), even though

eventually(D) found innocant(E) has just increased manifold

Likelihood

Incarceration

Accused

Eventually

Innocant




Q15. Retail (A) inflation alike (B) eased below 7% in October,
Reserve Bank of India (RBI) Governor Shaktikanta Das said on
Saturday, in conversation (C) with R Sukumar, editor-in-chief, of

Hindustan Times at the Hindustan Times Leadership (D)
Summit(E) 2022.

Retail

Alike

Conversation

Leadership

Summit




In the following question, a sentence 1s given with three
words marked as (A), (B) and (C). These words may or
may not be placed in their correct order. Four options
with different arrangements of these words have been
provided. Mark the option with the correct arrangement
as the answer. If no rearrangement is required, mark

option (5) as your answer



Q16. In the rainfall (A) when water droplets (B) fuse together and

become heavy, they come down as clouds. (C)

. ABC
. CBA
. BCA
. CAB

. No Rearrangement

Answer : Option B




Q17. The lungs (A) of the RBC transports hemoglobin (B) from the
oxygen (C) to all the cells of the body.

. BCA
. ABC
. CAB
. BAC

. No Rearrangement
DID YOU Answer : Option A




Q18. The use of atmosphere (A) 1s responsible for causing an

increase 1n fossil fuels (B) concentration in the carbon dioxide(C) .

. BAC
. ABC
. CAB
. BCA
. No

Rearrangement Answer : Option D




Q19. Virus (A) countries have faced a large developing (B) due to the

recent onset of the Corona setback (C) worldwide.

. ABC
. CAB
. CBA

. BCA

. No Rearrangement Answer : Option D




Q20. The puppy was finally found faint (A) in the nearby park, it was
dehydrated (B) and about to roaming. (C)

. CBA
. CAB
. ABC
. BAC

a . No Rearrangement

Answer : Option A




In the following passage there are blanks, each of
which has been numbered. These numbers are printed
below the passage and against each five words are
suggested, one of which fits the blank appropriately.

Find out the appropriate word in each case.
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DID YOU
KNOW?

Q21-25. After the outbreak of COVID- 19 1n the world, technological

advancement has been used to (21) and enable the business to

continue running throughout. COVID-19 has transformed online

shopping from occasional to a must globally to minimize the (22)
of people all over, thus controlling the coronavirus’s spread. Online

shopping 1s enhanced through (23) logistics systems where

robots are being used as the means to deliver food supplies and other
commodities because in-person delivery isn’t virus-proof. Countries like
China and the United States have ~ (24) contactless delivery
services where the customer’s goods ordered are ¢lite and dropped off at
the selected locations instead of the customers picking for themselves
using their hands. However, not every sector 1s equal in terms of e-

commerce amid this (25).




Q21. After the outbreak of COVID- 19 in the world,
technological advancement has been used to

(21) and enable the business to continue

running throughout.

. Cause.
. Event.
. Movement.

. Stationary.

. Consequence
Answer : Option C




Q22. COVID-19 has transformed online shopping from
occasional to a must globally to minimize the

(22) of people all over, thus controlling the

coronavirus’s spread.

. Extravagant
. Robust

. Enormous

. Reactive

o . Plausible

Answer : Option B




Q23. Online shopping 1s enhanced through (23)

logistics systems where robots are being used as the
means to deliver food supplies and other commodities

because in-person delivery 1sn’t virus-proof.

. Promote.

. Impede.

. Launch.
. Distribute.

. Pamper

Answer : Option A



Q24. Countries like China and the United States have
(24) contactless delivery services where the

customer’s goods ordered are ¢lite

. Evolved
. Provoked
. Indulged

. Launched

. Describe

Answer : Option D



Q25. However, not every sector 1s equal in terms of e-

commerce amid this (25).

. Endemic
. Illness
. Infection

. Virus

. Pandemic

Answer : Option E



Directions: Read the passage given below and answer
the questions that follow by choosing the correct/most

appropriate options:



\ |,

Q26-30. Amidst global turmoil, the Intergovernmental Panel on Climate
Change — the largest international consortium of scientists analyzing and
reviewing the evidence on the present and future man-made impacts of
climate change — has a message that 1s predictably dire. The world faces
unavoidable multiple climate hazards over the next two decades with global
warming of 1.5°C; even temporarily exceeding this warming level would
mean additional severe impacts, some of which will be 1rreversible. The
report points out that the rise in weather and climate extremes has led to
some 1rreversible impacts as natural and human systems are pushed beyond
their ability to adapt. Alluding to the Conference of the Parties (COP26) in

i‘g Glasgow, in November 2021, the report notes that most of the targets that

DID YOU
KNOW?

countries have set for themselves are too far in the future to have an impact

in the short term at meaningfully reducing the climate impact .



Q26-30. India will achieve net-zero emissions latest by 2070, that 1s, there
will be no net carbon emissions, Prime Minister Narendra Modi declared at
the COP26 summit. By 2030, India would also 50% of its energy

will be from renewable energy sources. However, none of this can help the

1.5°C mark from being breached. A major point of emphasis of the report,
particularly for South Asia, is the trend in the ‘wet bulb’ temperature — an
index of the impact of heat and humidity combined — and its effect on
health. Lucknow and Patna, according to one of several studies cited in the
report, were among the cities predicted to reach wet-bulb temperatures of
35°C 1f emissions continued to rise, while Bhubaneshwar, Chennai, Mumbati,
3‘6’Ind0re, and Ahmedabad are ‘at risk’ of reaching wet-bulb temperatures of
DIDYOU 3700 _34°C with continued emissions. This will have consequences such as a

KNOW? .
rise 1in heat-wave linked deaths or reduced productivity.
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DID YOU
KNOW?

Q26-30. Global sea levels will likely rise 44cm-76cm this century 1f
governments meet their current emissions-cutting pledges. But with
higher emissions, and if 1ce sheets collapse more quickly than expected,
sea levels could rise as much as 2 meters this century and Sm by 2150.
India 1s one of the most vulnerable country in terms of the population that
will be affected by sea-level rise. By the middle of the century, around 35
million of its people could face annual coastal flooding, with 45 million-
50 million at risk by the end of the century 1f emissions are high.
Experience has shown that partisan economic calculations trump climate
considerations, but India must shore up its adaptation measures and
urgently move to secure the futures of 1ts many vulnerable who have the

most to lose



Q26. According to the passage, if emissions are high,
how many people could face annual coastal flooding by

the end of the century?

. Around 35 million
. 25 million-30 million

. Around 15 million

. 45 million-50 million

S YO[J . Around 10 million Answer : Option D
KNOW?




Q27. What will fit in the blank taken from the passage: "By
2030, India would also 50% of its energy will be

from renewable energy sources."

. Ensurable

. Ensures

. Ensuring

. Ensure

. Ensured Answer : Option D




Q28. Choose the synonym of the word 'Irreversible'

. Irrévocable
. Corrigible
. Retrievable
. Réparable

. Révocable

Answer : Option A



Q29. What 1s the theme of the passage?

. India must relax upon its adaptation measures for climate
considerations.
. India can withstand the sea-level rise.

. India is risk-free from climate change.

. The achievement of net-zero emissions by India.

. India must shore up its adaptation measures for climate

considerations

Answer : Option E




Q30. According to the passage, how much the sea levels
could rise by 2150 1f ice sheets collapse more quickly than

expected?

. Two meters
. Five meters

. 1.5 meters

. 6.5 meters

DID Yo;_j - Ten meters Answer : Option B
KNOW?




QUESTION OF THE DAY

Choose the antonym of the word
'Evidence.’

Attestation

Confirmation

Corroboration
Proof

Guess






